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Divide by 10, no remainders

Division Practice Worksheet

4,810 + 10 = 930 + 10 =
5,380 + 10 = 141,930 + 10 =
807,480 + 10 = 880 + 10 =
3,380 + 10 = 380 + 10 =
76,910 + 10 = 760 + 10 =
723,900 + 10 = 363,470 + 10 =
6,260 + 10 = 130 + 10 =
52,860 + 10 = 639,040 + 10 =
270 + 10 = 2,760 + 10 =
820 + 10 = 95,150 + 10 =
87,520 + 10 = 941,860 + 10 =
6,900 + 10 = 64,800 + 10 =
9,650 + 10 = 266,490 + 10 =
81,570 + 10 = 22,760 + 10 =
7,190 + 10 = 670 + 10 =
23,350 + 10 = 9,790 + 10 =
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Divide by 10, no remainders

Division Practice Worksheet

4,810 + 10 = 481
5,380 + 10 = 538
807,480 + 10 = 80,748
3,380 + 10 = 338
76,910 + 10 = 7,691
723,900 + 10 = 72,390
6,260 + 10 = 626
52,860 + 10 = 5,286
270 = 10 = 27

820 + 10 = 82

87,520 + 10 = 8,752
6,900 + 10 = 690
9,650 + 10 = 965
81,570 + 10 = 8,157
7,190 = 10 = 719

23,350 + 10 = 2,335

530 + 10 = 53

141,930 + 10 = 14,193

880 + 10 = 88
380 + 10 = 38
760 + 10 = 76

363,470 + 10 = 36,347
130 + 10 = 13

639,040 + 10 = 63,904
2,760 + 10 = 276
95,150 + 10 = 9,515
941,860 + 10 = 94,186
64,800 + 10 = 6,480
266,490 + 10 = 26,649
22,760 + 10 = 2,276
670 + 10 = 67

9,790 + 10 = 979
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